Honors Algebra 2/Trig

© 2019 ‘Ku ts: So fitw are. LLGE.

Chapter 1 Review

Sketch the graph of each line.
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Graph each equation.

5) y=x*-6x+6
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Determine if the equation is symmetrical to the x-axis, y-axis, origin, or

7 y=x*+4

3*8%3

9). y=2x~10

NONe

Solve each equation.

1) ~6m +3 — 6m =-2]
=|Zm g =+
-lzm = -24

13) 6-2n=-8-2(n+1)

-b-2n=-8-2n-2

“2m =01
“=-10

No solution)
15)(%a+§ +2=l6—3)- ..'(9.

9a+10t12=13

93 +22=|3
9Qa-=-9

|crv¢'2.' Mad ¢

- ——— -

8) X = —.}’2 +4

X-aX1S

10) y=—x*—x

Qr\am

12) -7=-3v+4y

14) 30+ 5a=6(5a - 8) + q

N0 t5a=30a-48+2

20 t%3a = 33 -4Q
~203 = -9

[a=3]
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RK=ZS-3D=1]
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BX=
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Solve each equation. Remember to check for extraneous solutions.
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((n oxn+)  (n- 5)(mn7 ﬁ‘f
=S+ NS
=N

Factor each.

21) f(x)=x*-6x+8

2>‘:<, (£(x) = (-2 (x-1)]

23) f(x)=5x* +9x-2
e o F()=6X2 +10X-X-2)
£(x)=5X (X+2)-1(X+2)

o [FO=(xr2X5x-1)
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18)(Jc+ 1 ) 3)(

X+|43= BX
X = 35X
He2 X

CAo) [/ ki | _:L_,) HK(K- o)
(BK(K o) E Ele-wy) o ]
Ko = 2(k-b) -4
K+b=3K-18 -4
K+o = 3K-22
2K =-28

= 14
22) flx)=x*+2x-15

15/ [$) - (xoxx-2)
5 A9

Z

24) f(x)=2x* - 5x+2

Z‘fé FOX) 2x*-X-4x +2)
B £(x)= X (2x-1)-2(2x-1)
F(x)= (2x-1X%-2)
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25) f(x) 2({‘ + 2,x'¥+ 4x + 8)
£(x) = X*(x+2)+4 (x+2)
[F(X) = (2 +9))

Solve each equation by factoring.
27) n® +3n=0

ﬂ(n+3) =0
n:o ﬂ+3=O

(1-5,-9)

29) 4x? - 24x+8=8
Hx*-24% = 0
4x (X -)=0
yx=0 X-6-0

31) 3v* - 18=~15v
IV +I5V-18°0
3(V2+5V- -): 0
3(v-2Yv+l):0
V- —o Vtlo=0

26) j(r) :<4,v(3 - x:l— 4x + l>
£(X) = X (4x-1) =1 (4x-1)

F(x)= (4x-1Yx*0)
[£0)= (4x- Yk +Xx-1)

28) n”’ =91 +20=0

0 (n-4Xn-%)=0

-4 X5

q n-4y=0 N-%°0

‘ﬂ"i;é

30) i +10n+19=-5

N 410N +724=0
(n+4Yn+) =0
Nt4=0 Xtb=0

32) n*=—-6-5n
N“+5ntb=0
(n+2)Yn+2):0
N2 =0 Nt3=0
[n=-2,-32
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Solve each €quation by completing the square.

33)b +12b 58 =0

ZY 02 g
b Y12b t 2L = 68430b
(b+6)? =9y

[b=-lb*JTq

35) 3 +18r+ 14 =2
3(r%+lor)= 2-14
St ler +9)= 2142
3(r+2)° = (%

[F=-3t{s

Solve each equation with the quadratic formula.

37) I = 10n-1=0

10 +J(-10)% -4 (7)(- D
20T

L

ﬂ’

39) 2 +7=0

0+ Jo*-4(X1)

2(1)
Jr= 47

34) m* + 18m + 100 = 8
(A8Y . g2+
M +(8w + 8/ = 8-10018]
(m+a)? =[]
Lm - -9 IL\/?T]
36) 4x° - 8x+25=-6
HiX=2%)= 25
Y(x*-2x t)=-b-25tY
Y(x-1)* =-2"
[x- 12 25]

38) 9n* -2n+13=2

M -2n +11=0

2 * J(-2Y -9 ¢u)
Z(")

n = | td'w

40) 3n’ -3n=-

IN2-3n+1=0
31 J(3)" -4(3)(1)
2(3)

[ne3il]

Find the discriminant of each quadratic equation then state the number and type of solutions.

41) -3k* + Tk +6=0
T2-4(-3)b)
121

Fuo solutianel

42) 10x> + 10x -2 =-7

lOX* +10X +6=0
[0* "I(lo)(s)
-mo




43) 5x* +5=-10x
oX* 40X +5=0
N2-4(sY %)

O]

one,_sofvtion
Simplify.

45) i'""

L O

47) i'®

49) 2-(8-i) +(6-4i)

2-8+1tb-4C
ol

51) (—6i) - (5 5i) + (8 — 6i)
-LL-5+5L+8- oL

gl

53) (3 + 6i)(-7 - 6i) 5
-2]-18L-421 -3buL
-21 -OLt2b

[15- LOu)
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44) 5n* =-5n
5n*+5n =0
6* -4(sX0)

(100 _solufions

Aty =
46) i*?

-L OR -
48y %

50) (1431 - (5-31)+8
-1 +31-5t3C 18

52) (8 + 8i)) - (-7 -i) + (-8 + 5i)
R+BL+T+L-8+6¢C

54) (-5 +2i)(8 - 2i) e
-40 +10¢ +1lbl -Hu
Yo +2c t4
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55) (-7 -8i)?
(-7-80Y-1-g0)

49 +50( Y5t
H9 + 120 -4

57) (Jﬂ( 8-0)
—8+1 X -8- b)
=2yt
W1 +8L-80-(*
=41+ B0
S

59)(10+ 10/)(84Y0)
(8-4iXBt40)

60+‘10L+80‘u‘1(5(,1
WH + 320-220 -1l

YO+1200 _ | [+ 3L

56) (5 + 4i)?

(5 +40Yot40)

25+ 2001 200+ [l
26 +400- [

9+40¢

6 (14100)
(1 1-10iX 1 +HOL)

it Lol
[+10L - 10L-100L"

(—wmu}
10

(4+41x2 803
(2+8zYz -80)

B-320+80-321°
4 -l tlol-tL”

40 -240 _ [10-bi

BO L= LB i | 8
Solve each equation. Remember to check for extraneous solutions.
61) 1-8n2=72 62) <\/2x+3t6‘+2)z
1-8n =47 2%+ = X*+4x+Y
o B IR =0
(x+1Xxt1)= 0
X+[=0 ok
\2 2
63)(1+‘\/5—x)= (ls-x) 64) 1=3- 3 - \2x+8
HAJG - X +5 -X = lb-X (HJZH (] x3

ware L LC ATl rights ruerv'aa Made th Infinite Algeb ra

l +2JZ>;+8 +2% ;8 3-3X
(2J2x*83=5b'5><\)

4(2x+8)* B+lOX + 25X
BX+32=% +L0X +29x2—é A=,




Solve each equation.

65)(512)2';3(1,;)2/3
51273 = |y

(i) <

67) 5025 (3v - n)2
5:2"9((3\: Dk

(3feiz) = 3v-1i

4= 3\- 1]
\V=25]
69) %:2
b2
N2 -12]
1) |-2p| -4=10
I-2p] =14
20+  Zp={4
[P0

Solve each inequality and graph its solution.

73) (1 +2n) - 8n >-81

-[-2n -8nz-8|
—-{-lon 28|

(0N =80
nfﬂ ('ools:l
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66) 52=((x L )? )

25 5X-2¢
X1

3
68) 57 =2(-15 - a)? +3

54 =2(-15-3)2
2T - 15 -ay?2) 2
Bz7) = -15-3
1153 — 3 21)
70) |n-9| =19
£ LS S
o R E
In=128-10]

72) -5+ |n+8|=-3
In+8|=2
N+tB=2 -N-8:=2

@_' '("t'ﬂ

74) -186 < —6(6 - 5p)

-8 £ -3 +30F

~150 < 30p
@%{JESM




75) 27 - Tx 2 8(x + 6)

-27-1X 2 Bx +48
-16 2 15X

-52x) K-W,*G]J

76) -36 - 7v > 3(-8v+3) +2v
“Bp-Tv 2-24v + 1 + 2V

-3o-IN 2 -22V +9
IS\ 2 495

3] [C2,~)

Solve each compound inequality and graph its solution.

) 8n—7<-71or9+6n2=>069

B < -y & bn =20
Mz-g O’ NZ(0]
(—00/'8]\)[_!0,0@

79) 40 <5+ 5v<-5

M
454 BV 2~

Solve each inequality and graph its solution.

81) |n+1]| <5

-6 $Nt|<5
|-b= N q)
[~0,4]
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78) 4 +9m > —41 or Tm — 6 <55

10 8 6 4 0

qm>-495 0R Tm=-99
(m>-50e m2-7

(.-oo/"j—] U ('5,003

80) —69 <-9n+3 <-51

e 2 34y 3 7 9 10 11

P2 < -an = -6
8>r\3@

<-4

b
S2) 1=
)|t
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83) L7 e % > -6 84) 2] -22-3 _lf‘
e
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[a>6 0 a<-l
\(= 0 ,- ) UQO(/DO)
Solve and write your answer in interval notation.
85) n2+n-42>0 86) ¥ —13r+42<0
< Xayz 2 " .1)=
7, (n¥1Xn-)=0 l‘% (r-bYr-1)=0
! ﬂ:-_’/b Ih ("(o(’\
¢+f~++> et 4= T
= s T 7
(-oo, “l)vﬂo,_J [6,7)
87) 2v* - 5v~720 88) 2a’°-3a+1<0
M/ 2vE-v+2v-1:0 2 / 2a*-3-2a+1=0
->é V(2v-1+I(2v-1)0 >3<2 a(2a-)-1(za-)0
o (v+)-1)=0 (a-12a-1)
. a=l,
¢+I_-VL!’£\ f—+'~ '}2+A/
L =
- 00 "ITU Ei 90 <E 1_|)
O ELUTT 5 e 90) x* +6x+9<0
X (n- 2)(n-2) o) 3‘1 (x.l.gXxfg)s()
b ) G
} —> S 1 2 .
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